3,

g >

=)

s g -

£ I

= 29

o>= A

238 >

£z3

%3 Q

°s2. 0O

EEE

Eag =

23

2288 O

a sz >

=} (4]

= £ X
2 m
: U

(@}

E=

s

2

O

a

=

2

w

8 1

<}

3 1

S

g

a.

a 1

= 1

=3

@ 1

=

= 1

[

2

@

gy

=2 1

S

g

2

S

3 1

s 1

o

a 1

2 a

@,

2 A

N0 I
X

eale siy3 anjH

NoA 10j sjapouwr mau Supjew
pue uado sioop ano dasy sn djsHy

e

i$3114 IIVHS LON Od ISVIld

D4 M| sassauisng [ews sjjp| Adedig

If you wish to use hairpins to temporarily
connect your bridge segments, cut small
openings (square) where denoted by the
red lines (the red lines are not for cutting,

. : : but rather to help you see the black cut lines
! : on the rock texture.)




